He.2 (mod 3)
blocks | defect matrix
G: 1 3 13x7
2 3 13 x7
3 2 9 x5
4 1 3x2
) 1 3x2
6 1 3x2
7 0 229501 = Xx23+, P20+
Block 1: | 10 @60 ®90 ®130 $141 $151 $190
11 =x10 1 .
6801 = X6,0 1 1 .
12751 = X9,0 . 1 .

43521 = X14,0 1 1 .

62722 = X15,1 . 1 .
108801 = X22,0 1 . . . . 1
119001 = X25,0 1 1 1 1 . 1
137202 = X26,1 1 1 . 1 1
174932 = X28,1 1 1 1 2 .
208251 = X29,0 1 . 1 1 1
215041 = X30,0 1 1 1 1 1
215043 = X31,0 1 1 1 . 1 1
233241 = X33,0 1 1 1 1

Block 2: | 11 961 P91 131 P140 150 P19,1
la =x11 1 .
6802 = Xe6,1 1 1 .
12752 = X9,1 . 1 .

43522 = X1471 1 1 .

62721 = X15,0 . 1 .
108802 = X22,1 1 . . . . 1
119002 = X25,1 1 1 1 1 . 1
137201 = X26,0 1 1 . 1 1
174931 = X28,0 1 1 1 2 .
208252 = X29,1 1 . 1 1 1
215042 = X30,1 1 1 1 1 1
215044 = X31,1 1 1 1 . 1 1
233242 = X33,1 1 1 1 1

¥1,0
¥6,0
$9,0
©13,0
©14,1
P15,1
©19,0

®1,1
©6,1
¥9,1
©13,1
©14,0
©15,0
©19,1

679;
1275,
36734
6172,
6272,
10879,

679,
1275,
3673,
6172,
6272,
108795



Block 3: | w21 @7+ @Yo+ 120 @121
1021 = X2+ 1 :
20581 = x7+ 1 :
25501 = X104 1
19201 = x12,0 :
19202 = x12,1 . . 1
40801 = x13,0 1 1 :
40802 = x13,1 1 1 . 1
65281 = X16,0 1 1 :
65282 = X16.1 1 1 1
Block 4: | w4+ P16+
3060 =xap | 1 . o
14994 = xa7¢ | . 1 o
153001 = x20+ 1 1
Block 5: | v180 ®22.1
76501 = X10.0 1 : ili"l’
144002 = x27.1 . 1 %
220502 = x32.1 1 1
Block 6: | v181  ®220
76502 = x19,1 1 ziii
144001 = xa7.0 . 1 ’
220501 = x32,0 1 1

P24
P14+
$10+4
©12,0
P12,1

3061
14994,

76507
144004

76504
144004

102,

2058,
25504
1920,
19204



